

117 East Columbus Avenue Suite 100 • Bellefontaine, Oh 43311 commissioners@logancountyohio.gov (office) 937-599-7283 • (fax) 937-599-7268

Antram Robinson Michael E. Yoder Mark A.

David Henry, County Administrator david.henry@logancountyohio.gov 937-292-4008

ddoss@logancountyohio.gov 937-599-7284

DeDe Doss, Clerk Administrator Jenny Richardson, Human Resources Director jrichardson@logancountyohio.gov 937-599-7280

Resolution No. 54-23

The Logan County Board of Commissioners met in regular open session on this date of March 9, 2023 with Commissioner Antram and Commissioner Yoder present. Commissioner Robinson not present.

Mr. Michael E. Yoder moved that the following resolution be adopted:

AWARD BID TO RAY HENSLEY, INC. - 2023 TOWNSHIP CHIP & SEAL PROGRAM RE:

WHEREAS, bids were received on March 7, 2023 for the 2023 Township Chip & Seal project, and

WHEREAS, bids were received from Ray Hensley, Inc. in the amount of \$301,338.19 and Allied Construction, LLC in the amount of \$331,035.78, and

WHEREAS, the bids have been reviewed by the Logan County Engineer and a recommendation has been made to accept the bid of Ray Hensley, Inc. and enter into a contract for the same.

THEREFORE BE IT HEREBY RESOLVED by the Logan County Board of Commissioners to accept the bid of Ray Hensley, Inc. in the amount of \$301,338.19 and enter into a contract for the same.

Mr. Joe Antram seconded the motion.

Roll call resulted as follows:

Mr. Joe Antram, President

Mr. Michael E. Yoder, Vice President

Mark Robinson, Member

I, De De Doss, Clerk/Administrator, hereby certify this to be a true copy of the proceedings as taken from the minutes of the meeting of the Logan County Commissioners on this date of March 9, 2023.

De De Doss, Administrative Clerk

OFFICE OF THE LOGAN COUNTY ENGINEER P.O. BOX 427 1991 COUNTY ROAD 13 BELLEFONTAINE, OH 43311

www.lceo.us

SCOTT C. COLEMAN, P.E., P.S. LOGAN COUNTY ENGINEER

Telephone: (937) 592-2791 Fax: (937) 599-2658

MOTION

LOCIAN COUNTY COMMISSIONERS

March 09, 2023

The Honorable Board of Logan County Commissioners 117 E. Columbus Avenue, Suite 100 Bellefontaine, OH 43311

2023 Township Chip and Seal Program Bid

Tuesday, March 07, 2023 at 10:00 A.M. - Bid Opening

Gentlemen:

Re:

I have reviewed the bids which were received and opened at the above date and time. All of the bids appear to be in order meeting all specifications. A bid tabulation summary below with details attached.

Company	Bid Amount		
Ray Hensley, Inc.	\$ 301,338.19		
Allied Construction, LLC	\$ 331035.78		

Therefore, I am recommending that your honorable board adopt a resolution awarding the bid to Ray C. Hensley, Inc., 3790 Crabill Road, Springfield, OH 45502, in the amount of three hundred one thousand, and three hundred thirty-eight dollars, and nineteen cents (\$301,338.19) and enter into a contract for the bid amount.

In accordance with ORC 9.24, we have checked the Auditor of State's Unresolved Findings for Recovery Database and the federal system for awards management. Ray C. Hensley, Inc. was not listed and we have retained the certified search confirmation page in the project file.

Respectfully submitted,

Scott C. Coleman, P.E., P.S.

Logan County Engineer

SCC/wtb

Solicitation Information

Logan County Engineer's Office

Solicitation Number

2023 Logan County, Ohio - Township Chipseal Program

Deadline

03/07/2023 10:00 AM EST

Advertised

02/21/2023 10:00 AM EST

State

Ohio

County

Logan

Description

Logan County Engineer is administrating the combined township locally funded chipseal program for 2023. The bid request is for chipsealing various township roads throughout Logan County, Ohio.

Estimate: \$ 333,110

Bidders

Business Name	Address	Phone	
Ray Hensley Inc	3790 Crabill Rd Springfield, OH 45502-9332	(937) 323-3040	
Allied Construction LLC	720 East Main Street West Union, OH 45693	(937) 544-3344	

ITEM LIST

Bidder	Quantity	Unit Price	Extension
10.0 McArthur SY		viceasti	
Ray Hensley Inc	3,237	\$1.76	\$5,697.1
Allied Construction LLC	3,237	\$1.94	\$6,279.7
20.0 Harrison SY		a d	
Ray Hensley Inc	8,064	\$1,76	\$14,192.6
Allied Construction LLC	8,064	\$1.94	\$15,644.1
30.0 Rushcreek SY			F ₀
Ray Hensley Inc	35,396	\$1.76	\$62,296.9
Allied Construction LLC	35,396	\$1.94	\$68,668.2
40.0 Mlami SY			
Ray Hensley Inc	20,756	\$1.78	\$36,945.6
Allied Construction LLC	20,756	\$1.94	\$40,266.64
50.0 Monroe SY			V 2
Ray Hensley Inc	23,928	\$1.78	\$42,591.84
Allied Construction LLC	23,928	\$1.94	\$46,420.32
i0,0 (ane iY			
Ray Hensley Inc	5,056	\$1.78	\$8,999.68

 $x(x, \mathcal{L}_{x})^{-1}$

ITEM LIST

Bidder	Quantity	Unit Price	Extensi
20.0			Activities of the section of the sec
60.0 Zane			
SY			
Allled Construction LLC	5,056	\$1.94	\$9,808.6
70,0	entalista — teatritutus in di proportione i promisi din communicati in oppor	end is also make the common of the interpretation of the annual section is as the common of the interpretation of the annual section is as the common of the interpretation of the annual section of the interpretation of t	
Richland SY	-		
Ray Hensley Inc	A CATTO	tobarana des vices setradore de con vale s como que	
- 0 - (90)	12,158	\$1.76	\$21,398.0
Allied Construction LLC	12,158	\$1.94	\$23,586.5
80.0 Bokescreek	3.		A
SA Povesciadu			51
Ray Hensley Inc	35,556	\$1.76	\$62,578.50
Allied Construction LLC	35,556	\$1.94	\$68,978.6
00.0		The state of the s	- manufacture of the control of the
Bloomfield SY			
Ray Hensley Inc	8,763	\$1.76	\$15,422.88
Allied Construction LLC	8,763	\$1.94	the state of the second section is a second
00.0		with the second	\$17,000.22
lleasant Y			
	the state of the s		the entropy of the state of the
ay Hensley Inc	2,227	\$1.77	\$3,941.79
llied Construction LLC	2,227	\$1.94	\$4,320.38
10.0 tokes	e de la companya de l	menterioris i anno estate producti o operativa e e e e e e e e e e e e e e e e e e e	te de grande de serve de metalle de la company de la serve de la company de la company de deserve de la company
Y			
ay Hensley Inc	15,496	\$1.76	\$27,272.96
llied Construction LLC	15,496	\$1.94	\$30,062.24
em totals for ITEM LIST (11 Items)		Ψ1.04	
y Hensley Inc			Total
			Totals: \$301,338.19
lied Construction LLC			Totals: \$331,035.78

2023 TWP Chipseal Bids

	Signed by		Greta Wilt		Jeff Fisher	
	Submitted at		\$301,338,19 2023-03-07 14:47:36 LITC		\$331,035.78 2023-03-03 20:49:23 UTC	
	Bid Total	н				
	Status		Kesponsive	1	Kesponsive	
	Opened at	OF - 10 07 00 00 0000	ZUZS-US-U/ 15:U5:Z/ UIC	OF 12 12 12 12 10 00 0000	ZUZ3-03-07 15:05:15 01C	
Submitted Bids	Business	Day Honolog Inc			Allied Collisitaction LEC	